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root@f938306d7c59:/# 1ifconfig eth0
eth@: flags=4163<UP,BROADCAST,RUNNING,MULTICAST> mtu 1500
inet 172.17.0.2 netmask 255.255.0.0 broadcast 172.17.255.255

ether 02:42:ac:11:00:02 txqueuelen @ (Ethernet)

RX packets 6204 bytes 8967640 (8.5 MiB)

RX errors @ dropped @ overruns @ frame 0

TX packets 2485 bytes 135814 (132.6 KiB)

TX errors @ dropped @ overruns @ carrier @ collisions 0@




Socket Information

root@airflow-web-7fbccdf754-r2pr4:/usr/local/airflow# netstat -nlp
Active Internet connections (only servers)
Proto Recv-Q Send-Q Local Address ddress State PID/Program name

0 0 0.0.0.0:8080 .0.0.0: LISTEN 32/gunicorn: master
0 0 0.0.0.0:80 .0.0.0: LISTEN -




root@airtlow-web-/tbccdt/54-ripr4:./usr/Llocal/airtlow# netstat -s
Ip:
Forwarding: 1

AT\! 27D f— 286161723 total packets received
Tﬁ‘]’l*&éﬁl—l_1a l§\ @ forwarded

@ incoming packets discarded
286159554 incoming packets delivered
285947593 requests sent out

Icmp:
@ ICMP messages received
@ input ICMP message failed
ICMP input histogram:
® ICMP messages sent
@ ICMP messages failed
ICMP output histogram:

TCp:
429822 active connection openings
3818126 passive connection openings
2 failed connection attempts
95 connection resets received
10 connections established
285657313 segments received
285026050 segments sent out
542377 segments retransmitted
12 bad segments received
120033 resets sent
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a # sar -n DEV
Linux 4.9.0-7-amdo64 (airflow-web- 7fbccdf754 r2pr4) 09/07/20 _Xx86_64_ (8 CPU)

17:02:08 IFACE rxpck/s txpck/s rxkB/s txkB/s rxcmp/s txcmp/s rxmcst/s  %ifutil
17:02:09 lo

17:02:09 eth@ 39.00 36.00 4.02 4.80

17:02:09 IFACE rxpck/s  txpck/s rxkB/s txkB/s rxcmp/s  txcmp/s rxmcst/s  %ifutil
17:02:10 lo

17:02:10 eth@ 11.00 11.00 1.66 1.49

17:02:10 IFACE rxpck/s  txpck/s rxkB/s txkB/s rxcmp/s  txcmp/s rxmcst/s  %ifutil
177:02:11 lo

17:02:11 eth@ 10.00 10.00 0.89 1.03
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root@airflow-web-7fbccdf754-r2pr4:/usr/local/airflow# ping -c3 0.0.0.0
PING 0.0.0.0 (127.0.0.1) 56(84) bytes of data.

64 bytes from 127.0.0.1: icmp_seg=1 ttl=64 time=0.024 ms

64 bytes from 127.0.0.1: icmp_seq=2 ttl=64 time=0.026 ms

64 bytes from 127.0.0.1: icmp_seqg=3 ttl=64 time=0.025 ms

--- 0.0.0.0 ping statistics ---
3 packets transmitted, 3 received, 0% packet loss, time 42ms
rtt min/avg/max/mdev = 0.024/0.025/0.026/0.000 ms
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